913 -+ A wrntable rotates with a constant 2.25 rad/s* angular
acceleration. After 4.00 s 1t has rotated through an angle of 60.0 rad.
What was the angular velocity of the wheel at the beginning of the

4.00-s interval?



10.3 - A square metal plate 0.180 m on each side is pivoted
about an axis through point O at its center and perpendicular to the
plate (Fig. E10.3). Calculate the net torque about this axis due to

the three forces shown in the figure if the magnitudes of the forces
are F; = 180 N, F; = 260 N, and F; = 14.0 N. The plate and

all forces are in the plane of the page. Figure E10.3
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10.13 <« CP A 2.00-kg textbook rests on a frictionless, horizontal
surface. A cord attached to the book passes over a pulley whose
diameter 15 0.150 m. to a hanging book with mass 3.00 kg. The sys-
tem 15 released from rest. and the books are observed to move 1.20 m
in 0L800 s. (a) What 1s the tension in each part of the cord? (b) What
15 the moment of inertia of the pulley about its rotation axis?



1031 «+ A playeround mermy-go-round has radius 240 m and
moment of inertia 2100 kg - m* about a vertical axle through its center,
and 1t turns with neghgible friction. (a) A child applies an 18.0-N force
langentially to the edge of the mermy-go-round for 15.0 s If the merry-
co-round is titially at rest, what 1s 1ts angular speed after this 13.0-s
interval 7 (b) How much work did the child do on the merry-go-round?
(c) What 1s the average power supplied by the child?



9.43 -+ The flywheel of a gasoline engine is required to give up
300 J of kinetic energy while its angular velocity decreases from
650 rev/min to 520 rev/min. What moment of inertia is required?



